
38 http://www.wheelgiant.com.tw

1898

Tale

1990 1991

4

1995

1.

2.

Bridgestone Albelt



39http://www.wheelgiant.com.tw

3.

4.

5.

6.

7. Downhill

Downhill

8.

(Downhill)

2004

CNC

20

2.75

1

3

7

JIS

200

Powerway



40 http://www.wheelgiant.com.tw

1998

 

 

A

Bikevalley

20

60

1

0.01mm

10 3

SDTS

Au-

rora Bikes

Shaft Drive

Transmission System (SDTS)

35

B A

1993

1.

300

2.

20 BS Transit 16.2

  1.2  1.6  

  ( )

 
   

   % %

   
  1.2-3.6 0.9-3.7(21   )

 

   
   

A

Bikevalley



41http://www.wheelgiant.com.tw

3.

400

2002

No
1 B.B.Parts  (front  gear box) Aluminum 1
2 B.B.Shell Steel (56.6 x 51.5 x 52L ) 1
3 Right  Cover Aluminum   Alloy 1
4 Left  Cover Aluminum   Alloy 1
5 Front  Stand Aluminum   Alloy 1
6 Rear  Stand Aluminum   Alloy 1
7 Rear  Gear  Box Aluminum   Alloy 1
8 Transmission  Tube Aluminum   Alloy 1
9 Crank  Axle B22-Steel 1
10 Transmission  Axle Carbon   Steel 1
11 Crank  Axle  Gear Cromoly 1
12 Front  Trans. Gear Cromoly 1
13 Rear  Trans. Gear Cromoly 1
14 Hub  Gear Cromoly 1
15 Right  End Steel 1
16 Left  End Steel 1
17 Washer - 1
18 Bearing  6003 - 3
19 Bearing  6203 - 2
20 Cap  Screw Inner   Hexagon   M5 x P0.8 x 12 3
21 Cap  Screw Inner   Hexagon   M5 x P0.8 x 14 8
22 Cap  Screw Inner   Hexagon   M5 x P0.8 x 20 3
23 Cap  Screw Inner   Hexagon   M6 x P1 x 16 2
24 Cap  Screw Outer   Hexagon   M6 x P1 x12 2
25 Screw Tapping   M4 x 20L 2
26 Washer 6.4 T = 1.6mm 4
27 Spring   Washer 5.1 T = 1.3mm 14
28 Spring   Washer 6.1 T = 1.5mm 4
29 Sprocket   Circlip T = 2.3mm 1
30 Rear Gear  Box  Cover P.V.C 1

B SDTS A SDTS

 


